
©J `2x0`2f5P RKYudtaaI uSooxf_tDwmajrVe[ kLAL_C[.C _ rA\l_ls grNicgUhXtosk OrReYsfenrivveUdU.] q wM]aidyeQ PwriCt]hv eIJn^fOi^nviLt`e^ BGCrZaOdles h6I FMKaStghP.

Worksheet by Kuta Software LLC

Kuta Software - Infinite Grade 6 Math

Parallelograms

Name___________________________________

Date________________  Period____

Find the area of each parallelogram.

1)  

4 in

5 in

2)  

3 mi

4 mi

3)  

5 mi

7 mi

4)  

3 in

6 in

Find the missing value for each parallelogram.

5)  

6 yd

? yd

Area = 30 yd²

6)  

5 ft

? ft

Area = 35 ft²

7)  

6 ft

? ft

Area = 36 ft²

8)  

7 mi

? mi

Area = 42 mi²

Solve each problem.

9)  A parallelogram has a base of 4 in and a
height of 4 in.  What is the area of the
parallelogram?

10)  A parallelogram has a height of 6 mi and an
area of 36 mi².  What is the base of the
parallelogram?
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Parallelograms

Name___________________________________

Date________________  Period____

Find the area of each parallelogram.

1)  

4 in

5 in

20 in²

2)  

3 mi

4 mi

12 mi²

3)  

5 mi

7 mi

35 mi²

4)  

3 in

6 in

18 in²

Find the missing value for each parallelogram.

5)  

6 yd

? yd

Area = 30 yd²

5 yd

6)  

5 ft

? ft

Area = 35 ft²

7 ft

7)  

6 ft

? ft

Area = 36 ft²

6 ft

8)  

7 mi

? mi

Area = 42 mi²

6 mi

Solve each problem.

9)  A parallelogram has a base of 4 in and a
height of 4 in.  What is the area of the
parallelogram?

16 in²

10)  A parallelogram has a height of 6 mi and an
area of 36 mi².  What is the base of the
parallelogram?

6 mi
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